Working test 12
Раскройте скобки, употребляя глаголы в Past Continuous:
1 Yesterday at 10 o'clock I (to sleep).
	A I was sleeping
B I didn't sleep
	C I slept
D I was sleep


2  She (to play) with her little sister when I came into the room.
	A She was playing
B  She played
	C She did play
D She was not playing


3 When we went out it (to rain.)
	A  it rained
B it did rain
	C it was raining
D it was a rain


4  Nelly (to wear) a light dress when I met her.
	A  Nelly wore
B Nelly was wearing
	C Nelly did not wear
D Nelly wears


5  Sorry, I (not to listen) to you. I (to think) about something else.
	A not listened; I thought
B was not listening; I was thinking
	C listened;I was thinking
D was not listening; I did not think


6  What you (to do) when it started to rain?
	A you were doing
B were you doing
	C you did
D did you do


7  Bill (to watch TV) in the living-room while Tony (to have a shower).
	A watched; had a shower
B was watching; was having a shower 
	C did not watch; had a shower
D watched; did not have


8 The birds (to sing) and the sun (to shine).
	A were singing; was shining
B was singing;was shining
	C were singing;were shining
D sang; shone


9 I saw policemen who (to stand) around.
	A was standing around
B stood around
	C stand around
D were standing around


10 The children (to sleep) when you arrived?
	A Did the children sleep
B The children were sleeping
	C Were the children sleeping
D Was the children sleeping


11 They (to sign) a contract last Friday morning.
	A signed a contract
B sign a contract
	C were signing a contract
D did not sign a contract


12 He broke the window when he (to play) a ball. 
	A played a ball
B were playing
	C was playing a ball
D plays a ball


13 While she (to paint) the ceiling she fell off the ladder.
	A was painting
B painted
	C did not paint
D paints


14 When I saw Lucy, she (to wait) at the bus stop.
	A did wait for a bus
B did not wait for a bus
	C was waiting for a bus
D waited for a bus


15 What she (to wear) at the party yesterday?
	A was she wearing
B she was wearing
	C she wore
D she wears




